L5.1b Solving Equations Using n'" Roots

35 x=5

36. x=6

37. x= —7.66
38. x=1landx =9
39. x=-217

40. x= *1.68

41. x= %2

42. x= —-247

43. x==*3

4. x=-6

45. potatoes: 3.7%; ham: 2.4%; eggs: 1.7%

46. nis an even integer: 2; Because n is even and a is positive,
a has both a positive and a negative nth root.

47. 3,4:V/81 = 3and V256 = 4

48. \y

‘(1,0) (1.52, 0)
Earth Mars

4

Sample answer: d = 1.88%* = 1,52, so Mars must be
approximately 1.52 astronomical units from the Sun.

49,

50.

51.

52,

53.

54.

55.

56.

57.

58.

about 753 ft'/sec

1.12 m/sec; 1.47 m/sec; 2.15 m/sec

81x*

5000

0.04

0.82

6,930,000
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